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The question paper consists of 40 questions. Al questions

are compulsory.

Every question has four choices for its answers (A), (B),
(C) and (D) and only one of them is the correct answer.
On the OMR sheet, for each question number, darken
with a ball point pen ONLY ONE bubble corresponding

to what you consider to be the most appropriate answer,

from among the four choices.

Please note that it is not possible to change the
answer once you have filled up the bubble with
a ball point pen. Hence sufficient care must be

taken while darkening the bubbles.

For each question, you will be awarded ONE mark if

you have darkened only the bubble corresponding to
the correct answer. In all other cases, you will get zero

mark. There is no negative mark.
Only one OMR sheet will be provided.

Use only Black or Blue ball pont pen.
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L The probabality of an event is a value which is always -
A from O to 1
(B) more than 1
(C)  less than 0

D) between 0 and 1

2 Which of the values given below could be the probability of an event ?

jram—

A JO.6

B) 9

(Cy 17
D) Jo.36
3 Two dice are thrown simultaneously. Therefore the probability that the same

number appears on the top faces is :

(A) 1
B 2

(b) 6
c 1
' 8
m . L
% 38
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A box contains cards numbered from 17 to 94. If a card is drawn at random

from the box, then the probability that the number on the card is divisible

by 16 is :
A) 2
@) 73
B =
(B) 33
4
(C) =7
(D) L}
39

A bag contains 8 white marbles and 3 black marbles. If one marble is taken

out of the bag at random, then the probability that it is black is :

8

(A) 11

&
Q0| w

QO | =

6. The degree of the polynomial (2x2 — x + 1) 2 +1) — 2x*is :

(4) 2
B) 3
C) 4
D) 5
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[he zeros of the polynomial 3x? — x ~ 4 are -

(A) —4 and 3

B 2 .

( 3 and §

4

(C) 3 and - 1
3

D 1 -

(D) and 1

. 1
8. If one zero of the quadratic polynomial 6x? — bx + 8 is =, then the other

3
Zero 1s :
1
(A) 1
4
(B) 3
(C) 4
(D) 26

9. When (x* — 32* — x — 4) is divided by (x* — x - 3), the quotient is (x — 2).

What is the remainder ?

(A) -2
(B) -10
(C) 6x — 10
(D) =x - 10
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- 5), then

10. If x and o are the zeros of the quadratic polynomial (10x* — 2x

2

x? 4+ 0?18 :
A) L)
‘ 100
9
(B) 20
(C) ‘ 1
2
26
(D) 25
1 . ¢ a b ¢
X or equations a,.x + b,y + = 0 and +by+ce,=0i1f 7 T3 T,
q 1 o &y | a .a2x o 2 a, b2 Cy

then the pair of equations will have :
(A) a unique solution
(B) two solutions
(C) no solution
(D) infinitely many solutions
12. The lines represented by the equations 2¢x + 3y = 5 and 8 + 12y = 15
are : ‘

(A)  Coincident
(B) Intersecting
(C)  Parallel

(D)  Skew




13 If 25x + 11y = 47 and 1lx « 25y = & then the value of x - ¥ is :

A o0
(B 1
C© 32
D 3

14 The solution of the pair of bnear equations Sr —y =S and dx + = 10 s -

,.
®
21
i
l‘
i
a
o

,..
=}
-
|

|
-l

‘xg

il
&

15 Ifx =3, y = =3 1s the solution of the pair of linear equations
ax — bg:-l&\nd&n+V‘mthenthe\nlmd"a*bk:

A -
B -2
© 4
D 5

16. The Linear equation which is inconsistent with the equation 3x Sy = &
w . ‘\‘ 4 <

1S
(A) x+5% =8
B) 3x -3 =8

(C) 6x - 15y = 16

Ul
7

(D) Gx - 10y
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17 If 8v « 14y « 8 = (), then X = ,.....cvinimiinnsnnesens .

(\) 14y + O

O+ ldy

(B) —
S

. 14y -5

() -
S

o0-14y

(M e
o

18, The value of K for which the pair of eduations 3x — Ky = 4 and

Ky - 3y = K + 1 will have infinitely many solutions is :

A -3

B -1

(C) 1 ' :
D 3

19. The Line passing through points (5, 6) and (4, 7) will intersect line represented

by the equation 3x — y = 1 at the point :

A (1, -D
(B) | (2, 5)
(C) (-2, -7
D (3, 8




| T Sy A D 3 ' ﬁ

1
20.  Substituting ‘m’ and ‘n’ for 1/x and Uy respectively in the equation z -=5
J

T ST T T T T

the equation will be written as :
(A)  4m + 2n = Tmn

B) mx+ny=5

5 =25

m n

D) 4m + 2n =5

AB
21. If AABC is right angled at B, then — is equal to :

AC
(A)  sin A
(B)  cos A
(C) sec A
(D) cosec A

22.  If cos 7x = sin 3x, then the value of x is :

Ay 9°
(B) 10°
(C) 18°
(D) 36°
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(D) tan 6
24. The value of sec? 45° is -
(A) %
(B) g
. 1
D 2
25.  The simplified form of (cosec 6 — cot )2 is -
1-sinb
@) T sine
(B) tan 0
1-cos6
) 1+cosB
(D) cot 6
8-2021 pry 9
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1 1
v € + D)
sin’® cos® 0

The simplified form of \/

A 1
(B) sin 0 . cos 6

(C) sec O . cosec O
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cos? 28 + cos? 62

26.  The value of 1+ 8in3] sec59 8
(A) 0
1
(B) 5
Cc) 1
(D) :
3

27. If 5 cos ® = 12 sin 0, then cosec 0 is :

(A)
(B)
(C)
(D)

28. If cos

(A)

(B)

(C)

(D)

S-2021 [FT]
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30 = , then the value of sin 60 will be :

2

&~

DO | =

3
2

1

10
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29.  If cosecO — cotd = %, then the value of cosecO + cot i8 :
A 1
B} 3
C) 3
(D) =
NE]

30. If AABC is right angled at B, then the value of cos (A + C) is :

(A) O
(B) 1
4
(C) 5
3
(D) B

AB BC AC

31. AABC and APQR are such that RP _QhR = 'fﬁ’ therefore :

(A) AABC ~ APQR
(B) AABC ~ AQPR
(C) AABC ~ APRQ

(D) AABC ~ AQRP
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32. If APQR ~ AGEF, «P = 25° and £G + /F = 100°, then the measure of
ZF 1s
(A) 35°
(B) 45°
(C) 55°
D) 75°
X
33. As in the figure, A and B are points on sides XY and XZ
A g of AXYZ such that ABIYZ. If XA = 6 cm, AY = 4 cm and
v ;, XB = 14 cm, then the length of BZ is :
(A) 21 cm
28
(B) 3 cm
(©) 12
7 cm
(D) 6 cm
34. Given : APQR ~ ALMN, ar(PQR) = 242 cm?, ar(ALMN) = 128 cm? and
MN = 16 cm. Therefore the length of QR is :
(A) 44 cm
(B) 30.25 cm
(C) 22 em
(D) 5.5 cm
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36.

37.

.
As in the figure, points A and B are on the sides PQ and PR

A B of APQR such that AB/QR. If PA : AQ =1 : 3 and
ar(APAB) = 8 sq.cm, then the ar(CAQRB) is :

Q R .
(A) 16 cm?
(B) 64 cm?®
(C) 120 cm?
(D) 128 cm?

A boy walks 19 m due north, then 12 m due east and then 14 m south on

a flat ground. How far away is he from the starting point ?

4  J217 m
(B) 13 m
(C) V119 m
M) 7m

If in AEBC, EB? + B(C? = ECQ, and ZE = 28° then what is the measure
of £C ?

(A) 90°
(B) 62°
C) 28°
D) o°
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38.

39.

40.

Given : In AABC, D is a point on BC such that D lies between B and C
and ZADC = /BAC. Therefore it can be proved that CD x BC is equal to:

(A) AB?
(B) AD?
(C) ACH
(D) BD? |
If in AABC, AD L BC and D lies between B and C, then it can be proved
that : -
AB? + DC? is equal to :
(A) AD? + DC?
(B) AC x BD
(C) AC?* + BD?
D) AC? + BC?
4 K is a point in the interior of AABC right angled at B, such
that ZBKC = 90°, KC = 8 cm, BK = 6 ¢m and AC = 26 cm.
Therefore ar(AABC) is : ‘
=
.(A) 24 cm?
(B) 48 cm®
(C) 120 cm?
(D) 130 cm?
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